BT 50 Fuliton N

UL-C-UL B2 & )
Through-type Terminal Block : Recognized

PRSP ANYE S AV -
£ F,Pitch 16mm

FU
2wt |UF2059ET1-PKCT
E &
Sating AC600V  50A

HEAFARA 500V 1000MQ LU E
Insulation Resistance | DC500V  1000MQ and over

m & £ 3000V 1 ofEIALE
Withstands Voltage |[AC3000V 1 minute and over

oS BAR 8 ~12AWG

Compatible Wire

— %57/ General Tolerance 0.5

’ REE/Scale %4 HALUnit mm‘
17 | 16 133
<
)
SIS | el IS s SE
SIS IO RN S5 \
— B 16
D 0000 20 0 af “
‘éA = . =N ==
T 5 i T LN
e E VAR I ~
} | : | i h | | 1 g N }
L_Ld i i <
—Ea ! i -« | = (3 oA =
I/ ] 4 =
i : o —
@ S&IlIS5 SlSSSS o || ~
ctLo -A 20.6 18
24
o i [ H& | —— (15 p. A-A Wit [X]
® Ordering Form : Type No.  No. of Poles (P)
O KL E A LA PV 2 132.4—4.0N-m T o ik T kM, 74—V K71 2T (RIBER) .
® Connection screw : Tightening torque is 2.4—4.0 N-m. ® Application : General industrial. Field Wiring.

O I N—RUFREFEEHIEIA T a &) 3O THFELOBMHIEE T S\,

® The cover and the marking strip are optionally available.

® N — 7R S B S A E ORI ER I -CTE 7213 PKTEMFA T S\,
® To obtain a cover or a marking strip, and “-CT”or “PKT” at the end of the ordering form.

® 7N — R UL s H S A E DOBIIE T ERBIC -PKCT LG AT & v A= RO S FH USRI L TMAZL £57

=
® To obtain a cover and a marking strip, and “PKCT” at the end of the ordering form. The cover and the marking strip will be delivered separately. E
s
W14,/ Specifications.
&, Part No. % ¥5/Part Name # B Material #1& /Standard ~tik ./ Size JLER / Treatment fis %,/ Remark
1 FAHL(A) Base (A) PBT UL B s Black
2 AR (B) Base (B) PBT UL 2 & Black
3 AR (C) Base (C) PBT UL B @ Black
4 SEFRAR Terminal # 4 Brass C2680P W OE t2.0 | =97 WavE Nickel-Plated
5 FERRE A Screw % steel SWCH - SPCC | M5X0.8X12 ¢ | =07 VAs% NickelPlaed | 7)) =% ¥ ¥R Typell
6 ANATF v+ Hexagon nut % steel SWCH M5X0.8 Z{RPA=} Trivlent chromate Treatment
7 SRV & Connecting bolt #  steel SWCH M3X0.5 F
8 ik & Connecting nut % steel SWCH M3X0.5 Sy Trivaentchromte Treatment
9 FLEE S Marking strip | RUA—HR %A=  Polycarbonate UL BOE ot 1.0 F f4 White 47 a > Optional
10 J1 N — Cover RUH—R A=k Polycarbonate UL #OJE t 1.5 | & B Transparence | + 73 3~ Optional
11 FIN=EE A Cover Retaing screw o Brass C2700W M3X0.5X8 ¢ | ZvFlvAv% NickelPlaed | PW £ AAFN Type®)
12 AT & Hexagon nut % steel SWCH M3X0.5 M7=} Trivalentchromate Tre
#B%1, Poles 2P| 3 | 4 |56 | 7T | 8|9 |10]11]12
A 63 | 79 | 95 | 111 | 127 | 143 | 169 | 175 | 191 | 207 | 223
B 50 | 66 | 82 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210
o] 35 | 51 | 67 83 | 99 | 115 | 131 | 147 | 163 | 179 | 195

669



